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Instructions :
(i)  All questions are compulsory.
(1)  Question Nos. 1 to 5 are objective type questions carry total 28 marks.
(iif) Question Nos. 6 to 12, each question carries 2 marks. (word limit 30 words)
(iv) Question Nos. 13 to 16. each question carries 3 marks. (word limit 75 words)
(v) Question Nos. 17 to 20, each question carries 4 marks, (word limit 120 words)
(vi) Internal choice is given in every question from Question Nos. 6 to 20.
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1 Hﬁﬁiﬁﬂﬂﬂﬂ?{ﬁlﬁm : vy il

O AR X e s B wwi e ¥
(a) fowrae o (b) #a faera
(c) #a femas N (d) famas
(i) T = K[A]'2 [B]32 aﬁ% q sifufran & B ¥ -
(a) 4 :5 (b) 3
) 2 o d) 1
(iii) wFwor am ® — ;—\;
@ @@ F (b) 9w
(¢) zrgefram ‘? (d) s
(iv) Taf=emez ¥ — O
(a) CgHsOH J (b) CgH,(CHO)(OH)
(¢) CgHsCHO E (d) CgHCHO
(V) UYR-1, 2-Trini & — E

() H,N-CH,~CH,-NH, (b) CH;NHCH,CH,

(©) H,N-CH,-NH=CH, (d) CH3NHCH,CH,CH,
(vi) zﬁrﬁmaﬁﬁ;qmﬁ%m%mmmﬁ% -

() DNA E (b) RNA

(¢c) =M (d) u~mEn
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Choose and write correct option : (-H
0
(i) Homogeneous mixtures of two of'%nwre than two components is —
(a) Solution {b)q_{;: Liquid solute
(¢) Liquid solvent {d{)_| Solvent
N
(i) Rate = K[A]'2 [B]’2 in rate expression the overall order of
reaction is — g
o
(@) 4 (bg 3
(c) 2 (d) 1
™
(iii) Transition element is — 0N
0
(a) Sodium (b'i_:: Potassium
) o
(¢) Titanium (dy Cesium
o
(iv) Benzaldehyde is —
&
(a) CgHsOH (b)y CgH,(CHO)(OH)
a0
(¢) C.HsCHO (df CgHGCHO
(o
(v) Ethane-1, 2-diamine is — g
(a) H,N-CH,-CH,-NH, (b) CH3;NHCH,CH;
() H,N—CH,—NH-CH; (dN CH;NHCH,CH,CH;
2 2 4. QA0
(vi) Molecules that act as intercellut:%' messengers are —

(o]
(a) DNA (bY] RNA
(¢) Hormones (d) Enzymes
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(i) %%ﬁ{lﬂﬁm%ﬁﬁa}fﬁr‘mﬁgﬁﬂmﬁ‘?*m“ﬁ e 3
39 faeas &Y mﬁ%:
o

(i) wom wife afifear & a7 R @y sors B
|

(iii) ST, sifbreredes < Frert G Pea-A 9 2 E |

(3]
(iv) frme dftfes Ofw S i el A9 E
'ldl
(v) ﬁ?ﬁ‘ﬁruﬁﬁgﬁmwo arereen H forr 2
(vi) Hﬁ%ﬁﬂnﬁ%wmﬁ%ﬂnﬁmm% a1 IR
HEATAl &
w
o
Fill in the blanks : -
: <p
o

(i) The number of moles of solute dissolved i in one litre (or one cubic

decimeter) of solution is dffif‘m.d as
i

N
(ii) The unit of a first order rﬁi:}: constant is

O
(i) Fehling reagent cmnpnses;c‘r:f two solutions, fehling solution A and
o
(iv) The lower aliphatic ammfaii are gases with odour,
R
(v)  Glucose occurs freely in nature as well as in the fi
O e
: o
(vi) If third amino acid combines to a dipeptide, the product ig called
a
e
[220] / 202543 A & ¢
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(i) Qﬁfﬁﬁmvﬁwmaﬂﬂmﬂaﬁmﬁmw«mhmiﬁm
HEdTd & | 5

N
(A

(i) A R ets g Al & sagtecial (vt Rra) a1 g g
-
(i) Ca*' g Me" sy EDTA % m;mﬁ} Hpel o ¥

(i\') C:I 150Cll3 g mﬁlﬂ gu_{ %[ i~
N
(24

(V) aﬁﬂﬂﬁaﬂa‘fﬁawaﬁw%:g

-
(vi}wmmmaw@mammwﬁ

T |
~
Write True or False : oN
Qo

o
(1)  The solutions which obey Raoult's law over the entire range of
concentrations are known as iduﬁ solutions.
]
(ii) The cell potential is the addition of the electrode potentials (reduction

potentials) of the cathode and anede.
N
o)

(iif) The Ca** and Mg2* ions form !ié}hblc complexes with EDTA.

o
(iv) C,H;OCH; is a symmetrical ethgr.

(v) Ketones containing carbony]| groulp.

o
(vi) Hinsberg's reagent reacts with ﬂgimm‘y and secondary amines (o
form sulphonamides. g

<
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(i) Fafees

(i) K,[Fe(CN),]

(ili) v sifteds

(iv) wifds erst

(v) wrHEHTEe

Match the correct pair :
CAN

(1) Silicon

(ii) K4[Fel(CN),5]

(111) Lucas reagent

(iv) Formic acid

(v) Monosaccharides

/ 202543_A
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04006821

(a)

(b)

(c)

(d)

()

(a)

(b)

(c)

(d)

(e)

SEATTh
oo difedr
gtz HCI wal ZnCl,

IR IO

“B
Reducing sugars
Semiconductn.r

Red ants

Cone, HCI and ZnCl,

Counter ions

1x5=5
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(i) orfreTers = AR & T fifEa)

N
0

(ii) q\%ﬁmmﬁzwmﬁa@ﬁ-ﬂ%l
o
ﬁ

(iii) [Ni(CO),] & ¥ ag wemmy frfaw|

r~
(iv) RIL RF, RBr, RCI dfwhet #wreel @1 ggeiai % =ed %9 & fanaw)
\O

©
(v) Wﬁmﬁmﬁmﬁafﬁqw@wﬁqmwfaﬁqm
o

Write answer in one word/sentence :

~
o

94

(i) Write the value of conductivity of snperconductor.
()
&

<, :
(i1)) Write the chemical formula of potassium dichromate.

(iii) Write the central metal atom in [Ni(€O),].

N
L4

0 e
(iv) Write alkyl halides RI, RF, RBr, R(“.hjn decreasing order of boiling
points. o

=l
Q

(v) Write the name of hormone which is responsible for deep voice in

males. vy
o
0]

® T
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6 waRw i sty il
Write the definition of corrosion.
4ar / OR
ﬂm%$ﬁqawmmaﬂmmﬁmﬂﬁhy

Write the Faraday's first law of electrolysis.

7 qmﬁmaﬁﬁmﬁam%?%@ml

Write, what are elementary reactions.

ya / OR

wiest aifufirard % 7 firfigu

Write, what are complex reactions.

{8 :mmmﬁﬁﬁﬁhkﬁﬁﬁaﬁmww%mm

Write any two characteristics of interstitial compounds.

34a / OR
cFQﬁFﬁ@Hﬁﬁ%ﬁﬁﬁG@ﬁhﬁﬁml

Write any two applications of d— and f-block elements.

9 #ﬁﬁﬁﬂ@ﬁﬁﬁﬁ@ﬁﬁﬂﬁﬁ%ﬁml

Write homoleptic complex with an example.

3141 / OR
%ﬁﬁhﬁ#@nﬁq¢ﬁﬂﬂﬂﬁﬁﬁﬁml

Write heteroleptic complex with an example.
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10 Frefeied syaesany Gt & g3 fifao
(i) R mmEtEfee (1)
(i) S=EEEEEETE (1) wes
-

141=2 7

Write the formulas for the I‘u[lqig:iing coordination compounds :
(1) Potassium tetracyanidonickélate (11)
(11) Pcmuamminecarbonamcobzﬁi (I11) chloride
3ﬁ["rﬂ / OR
frerffie Suwesa At % IUPAC = fiftay -
(i)  K,[PdCly] 0
(i) [Cr(NH;),(H,0),Cly ¢y
Write the IUPAC names of the Et}ilowing coordination compounds :

(i) K,[PdCly] =
(i) [Cr(NH;),(H,0)Cl; &

1 Prefia et st % e SR e Bt e ey @ 141=2

OH
-
(i) £S0Cl, —eo
= g

0

_~-CH,CH3 &
.. w Br,, FSSEe
(1) S T e

O,N

Draw the structures of major Monohalo product for the following chemical

reactions : N
00

OH 0

(e

(1) O/ B SOCI—
el N

[

. 4 Br,, heat or
(i) /©/ r\‘: 2__ >
o UV light

2 0
e/ OR
o
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Frefafaa tomafs sffranel & e @k sae @ @ fafeg -

5 HE : r |
| + Br —
0 2 T mﬁli
(i) CH;CH,Br + Nal —
Draw the structures of major Monohalo product for the following chemical
reactions :

|

heat ©

. + Br rdl
® O 27UV light 1

r
-

= |

(i) CH,CH,Br+Nal—> <

ﬁl@ﬁ?A%Eﬁéﬂﬂﬂ'ﬁ@H’EﬁﬁtﬁTﬂﬁTﬁNl 24
Write the names of any four marlrln sources of Vitamin A.

st / OR
O ¥ B e ww W % AT

Write the names of any four chief sources of protein.

|

N

Co
HTHfRAT FT anfoael & @rs o fend ar st fafeg 37
Write any three conclusions or cl;a'racterislics of molecularity of reaction.

s / OR

fufiar &1 #ife & F15 O Frend ar i fafaa

&

Write any three conclusions or characteristics of order of reaction
A E )

£
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16

Wﬁ‘ﬁmrﬁﬂaﬁﬂiﬁqﬁmﬁa&ﬁ&t,ml 37

Write. why do ihe transition elements exhibit higher enthalpies of

. . (s
alomisation. 0

LM

© 3yar / OR

Cr* Wm%ﬁfﬁ%mm”aﬂa&tﬂm mﬁa’rﬁmd‘ﬁ'—‘m% i 7
fafiae ¢

Write, why is Cr?* reducing and Mn3* oxidising when both have
d* configuration;.
p
SR (i ) ¥ w o e A A e 3 -
Write any three effects of dichloromethane (methylene chloride) for human.

4 / OR
TTERREAT ( W!m}%mﬂmﬁﬁﬁfﬁﬂmﬁﬁm

Write any three £ jf cts of tetrachloromethane (carbon tetrachloride) for
human. -

B

m&m’lﬁww% mﬁﬁﬁwwwwﬂmﬁaﬁ&mm%? 3

ETEUAETV mmrﬁa; T faflaa

What is dlﬂ.ﬁﬂllbﬂll{)n? Why diazonium salt is generally not stored? %

Write chemical ¢quation for diazotisation, : iy
e 59 / OR

Wmmﬁmﬁmw%?mmmﬁﬁﬂ?ﬂﬁmﬂm
mﬂ?mmm}ﬁm%?waﬁmwmmﬁml

» What is Hoffmann bromamide degradation reaction? Why in this reaction

amine cnntﬂmsf mm: carbon less than that present in the amide?

Write chemical equatmn for it.

C)
o |
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T G ¥ e o R v S e e e & et e
ﬁw*mﬂﬁmmﬁ%ﬁml

—~{ s
= ¥ . S . . sy - d
Define elevation in boiling Point and based on this derive a mathematical
EXpression to determine the molar mn.g of solute.

18 Cuso4ﬁiﬁmqm%1.5qﬁqwaﬁsrm§‘rmﬁazﬁfrgamm%am 4./
- = 1

O
A solution of CuSOy is electrolysed for 10 minutes with a current of
1.5 amperes. Write the mass of coppér deposited at the cathode by
calculation, o

0.001028 mol L1 &z sy 28y D 4.95%10-5 S o1 3 3y e
o o

I 5 foyo A FTEE 3905 Scmztﬂbl"'%‘.ﬁﬂmﬁlﬁﬁ?ﬂﬂﬁﬁﬁl
b |
Uit w7 fif | o

The conductivity of 0.001028 mo| L~ acetic acid is 4.95x 10-5S el
N o
Calculate its dissociation constaﬂ if A, for acetic acid js

390.5 S cm2 mol-!.
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Frefafes sifufsarstt =1 oof #ifw -
HI o

1L|
" Zn0-Cr,0, _ S
(i) CO+ 2H, 200-300atm
5§73-673K o
OH
i~
o
e f_[_‘r
(iii) i 3}31-3 —_— 0
CJ
(-
OH <
-
; (@)
(1v) a1 ENOS ) !
o
Complete the following reactions : :‘f:
HI .
(i) (CI-13 }3 C- -:f:vl.’i_j_l-l5 -— E.::
o
- Zn0—Cr, 0, -
(i) CO+2H, 200—300atm
573-673K =
o
W o)
OH O
[
(|
(iii) +3Br, — =
OH i
o
o
dil. HNO3 O
(1v) —3 P
o
<
o |
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(i) $eré s "

L

Write the following reactions with chemical equations :
el

. : O
(1) Gaterman — Koch reaction :

|
(ii) Etard reaction 11
st / OR
Pyt sifufmare =1 ot uﬁﬁm wfea faftaw. -

i
&
i

i HE , :
Write the following reactions with chemical equations :

(i) Stephen reaction : ¢]
0
(ii) Friedel-Crafts acylation reaction)
i
|
% il
' n |
™
L
Ll
15
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